91

350 52.680
Bc 0.470 (m)
a / 1750
/ 45
52.680 (m)
o / 1200 1750 1500
/ 3 45 25
1 1 2
250 0.360 0.337 2000 55 0.1525 1.265 510 686
300 0.414 0.391 57 0.1785 1.540 628 843
350 0.470 0.447 15 60 0.2050 1.853 775 1040
400 0.526 0.503 ' 63 0.2315 2.206 932 1255
450 0.584 0.561 2430 67 0.2585 2.618 1128 1510
500 0.640 0.617 70 0.2850 3.011 1304 1765
600 0.760 0.731 25 80 0.3400 4.109 1746 2354
700 0.880 0.851 ' 90 0.3950 5.364 2344 3158




F=Fo+o0 S L
Fo=a Bc/2) m
F KN)
Fo KN
a KN/
/ 2
1476
a / 1200 1750 1500
/ 3 4.5 2.5
1 1 2
250 0.360 0.337 2000 55 0.1525 = 1.265 510 686
300 0.414 0.391 57 0.1785 | 1.540 628 843
350 0.470 0.447 15 60 0.2050 = 1.853 775 1040
400 0.526 0.503 ' 63 0.2315 = 2.206 932 1255
450 0.584 0.561 2430 67 0.2585 @ 2.618 1128 1510
500 0.640 0.617 70 0.2850 = 3.011 1304 1765
600 0.760 0.731 25 80 0.3400 @ 4.109 1746 2354
700 0.880 0.851 ' 90 0.3950  5.364 2344 3158
Fo=a Bc/2) m
= 1750 0470 / 2 * 3141
= 303.558
F=Fo + 0 S L
= 303558 + 45 1476 52.68
= 654
775 654




